6—-3HRET  BHEE SHA21A(R)
WOKEH O 20T, £, ZOEROMEE, RMORS, FlORI 2RO L,
2 2
W) r+gr=1 @) 220+ yi=t
@B
1) P4—+7 1 OEEIE, AORD XS y2
7%, 3/\3
gaix 248K5,0), (=5, 0 ~75 0 5] %
R#hoRk ST 2-3=6
FEhOR ST 2-2=4
2

ORI 1T 2.4/2 =22

-2
xZ y2
(2) ¥5M 2224 y*=4 TbbH 7+T:1@ y
BRI, AOXD X 51275, )
Bz 2400, V2), (0, —/2) 2 Jz
oS3 2-2=4 \é/ x

WOFEH DO FFEAE KD X,
(1) 240, 3), (0, =3) =L L, ELALOHEEOFMN 8 THDHFEH

@ 1 xltyi=52%, yiﬂa%%ﬂ:c:foiflajir‘m:%%bﬁ%%ﬂé*%k%

LD

1) kB HERR :;—+ b

Tr=1(0>a>0 L6105

EENLDFEEORIZOWT, 26=8 THHME  b=4
EEOHERIZASNT, /bP—al =3 THEME
a?=b2—32=16—9=7
2
L7235, RO DFEHO TR 7+1—6=1
2 MECEQ(Gs, HEaEY, QBBLIEE P, y)LToL
s24¢2=5% ... @, x:%S, y=1 e ®
5
@J:V) S_Ex’ t:y ...... ®
5 \2 x? 2
@ & DI AT S L <§x> +y=5  FTabh +de=1
oA (V3, 0), (=3, 00T, A(=1, 2)Z@sEMHOFRALZRD L,

@D

@iﬂi@ﬁﬁ%ﬁ‘i (W3, 0), (=3, 0) THDHZ D, HHOLBERIZ

ESN .
3 s o= 1(6>3) L85,
- . 1 4
Shicx=—1, y=2%{AT5E §Jrﬁzl
koT  b%=6 ZHIE, b> 3 miET

2 2
L=28-C, kDI OHERRIL %*%21

( )& 4ri( A
EXN80#5 AB DA A 12 2 8 1%, s By 28 215,
(1) ﬁ AB %5 : 31245 4 P OWi& kD L.
@) # AB %5 : 3ITHT 54 Q Ol E K k.
@)
28 A, BOEELZ, hzhn(s, 0), (0, t) 35, AB=8ThHohb
si42=8% ... ©)
(1) MPOEEEX (x, y) LT2L, PIEESABZ5: 3 ICAST 00
_3s+5-0 _3  _3-045 _5
T 5+3 8 YT 543 "8
_8 .8
LoT s_3x, t—5y
- . 8 8 N\ o2
ShE OIfAT S L (30-%3Q=8
2 2
Ak Z 42 =1 ...
K5 L 9+25 1 @)
DIT, SMEEERETAPE, BHO Lokhs
Wz, HEH @ EOEEOEP(x, y)IE, StEaiseT,
2
LT, R DML ﬁm——+%§—1
@) HQOEEE (x, y) LF5E, QILEN ABES5:3ITANTHE
~35+5:0 _ 3 _ —3-045_5
=T 53 - 277753 2
__2. ,_2
LoT s——3x, t—sy
2\ /2 0\
“nE O IftAT Bk (—304{gﬁ=y
x* Ly
HE =1 ......
K5 L 144+400 1 @)

W, FEEWEZTE QX BH @ ki
Wz, M Q@ EOEEOHE Q(x, 9) I, *fﬂ:%(ﬁﬁf_

2 2
LER-T, ROZBBRNE M e + -2 =

122 t 300 =
2 2
R G+ 20 =1 0P L (2 0) OBEL ORME, B EOSRAR R K,
EPOREEE (1, 9) ETBE P=(x—2P4y? e D
xz y2
N N
x2
£oT y2=4<1—T> ...... ®
xz
Y220 Ch DD 4( —7>;o
SHEMRS L —3<x<3 3
@ % DIZRALT
x?
12=<x—2)2+4<1—T>
_5 5 _5( 18\t 4
_9x 4x+8_9<x 5>+5

>0 THAHND, LT EREADLXGAN, PEREROEEZHERTHS,

® kv, Pira=3 TH/MEL x=—3 TRAMB %L 5.
LT, Bl ofoMEx V1 =1,
BRER V25 =5




